Physics 200 (Stapleton) Name: /K@;f School
Notes: Springs + Odds and Ends "

Springs Notes:

1.

1
We will be solving problems with two kinds of springs Ce *‘;pf'ﬁ $ & 79+ springs and

& A:-;a@,a_vs £ /B springs.

The spring constant (k) tells us how much force is exerted by a stretched or co;lnyessed spring. It

is represented by the letter & ; z{i’ox;.éw/ {/(A,V(S = o
1

The force exerted by a spring that is stretched or compressed a distance of x is...
= kX<
5’01‘;5} Force vs. Elongation

8.00
The force that must be applied to the spring to stretch it a

distance x equals...
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What is the spring constant of the spring represented by
the graph on the right?
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Elongation (m)
How much work must be done to stretch the spring from

Om of elongation to 0.4m of elongation?

distance x?
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How much energy is stored in a spring with a spring constant of k that is stretched or compressed a
distance x?
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Other Forms of Energy (other than mechanical energy):

8. Law of Conservation of Energy with other energy forms (OE): KE; + PE; + Wy = KEf + PE; + OFE;¢

9. List some other (non-mechanical) forms of energy
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10. If you drop a tennis ball on a level surface and let it bounce until it comes to rest, what types of
non-conservative work and other energy might be involved in this process?
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Electrical Energy Units:

11, The so-called power company sells us energy, not power. The unit that they use for the energy that
they sell is the kiloWatt-hour (kWh).
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How many joules equals one kilgWatg-hour?
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Efficiency: Ratio of output energy to input energy, u;iﬂly expressed as a percentage.
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13. Starting from rest, a 10kg ‘possum climbs a 5m tall tree, using 1000J of food energy in the process.

How efficient was this event? 15“"_‘7;?' g
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